Sand- & sodablaster

Sand & soda blaster
26 L

PELAL

TOOLS

Item No:
497943




Kontaktinformation
Verktygsboden Erfilux AB
Kallbacksrydsgatan 1
SE-507 42 Boras

Telefon: 033-202650

Mejl: info@verktygsboden.se

Miljéskydd / Skrotning

Atervinn o6nskat material, slang
det inte bland hushallssoporna. Alla
maskiner, tillbehor och férpackningar

skall sorteras och lamnas till en I

atervinningscentral och dar kasseras

pa ett miljovanligt satt.

Specifikationer
Tankvolym 2x26 L
Slanglangd 2,5m
Arbetstryck 4-8 bar
Luftférbrukning ca 170-200 I/min

Sidkerhetsfireskrifter

Las noga igenom manualens sakerhetsforeskrifter innan du
anvander blasteraggregatet. VARNING! Nar blastern anvands
sa maste grundlaggande forsiktighetsmatt alltid foljas for att
reducera risken for personskada och andra risker orsakade av
for hogt lufttryck.

1. Tryckluften skall vara fri frn féroreningar tex olja, fukt etc.
Anvand ej blastern pa fuktiga, vata eller daligt upplysta
arbetsplatser. Utsatt e blastern for regn. Hall arbetsytan
val upplyst och ren. Skrapiga arbetsplatser innebar storre
risk for olyckor.

2. Anvéand skyddsglasdgon och hérselskydd. Anvand alltid
godkand skyddsutrustning nar blastern anvands. OBS!
Vanliga glasdgon ar inte skyddsglaségon. Anvand horsel-
skydd eftersom bléstern ljudniva kan vara hog vid anvén-
dandet. Anvand endast rekommenderade blastermaterial.

3. Hall barn borta fran utrustningen. Barn far ej uppehélla
sig i néarheten av arbetsomradet. Lat dem aldrig anvanda
blastern eller dess tillbehor.

4. Nér blastern inte anvénds, s ska den forvaras pa torr
plats for att skyddas mot rost, samt i ett last utrymme sa
att det forvaras oatkomligt for barn.

5. Anvénd inte aggregatet om du &r trétt eller paverkad av
droger, alkohol eller medicin.

6. Koppla alltid ifr&n tryckluftsanslutningen fran tanken vid
pafylining av blastermedel, lagring eller vid justering eller
utbyte av tillbehor.

7. L&t aldrig din vana vid bléstern leda till oférsiktighet.

8. Kontrollera att alla delar sitter pa plats och &r i god funk-
tion och sitter korrekt monterade.

9. Uppratthall ratt lufttryck under arbetet. Om trycket stiger
Over maxtrycket, stoppa omedelbart allt arbete och koppla
lufttrycket ifran blastertanken.

Arbetsplatsen, fiir- och efterarbete

Sodablastring genererar en avsevard mangd av
fint bikarbonat damm. Om du arbetar utomhus, var
medveten om vindriktning, 6ppna fonster, vegeta-
tion, fordon, husdjur, manniskor och egendom. Det
kan vara till hjalp att placera en fin vattendimma,
fran en tradgardsslang och en grasmattesprinkler,
i vindriktningen fran blasterplatsen for att under-
trycka dammbildning.

1. Det &r bast att tdcka arbetsomradet under och
runt fordonet eller objektet som skall blastras
med en pressening eller ett tjockare plastma-
terial for att underlatta vid sanering. Du kanske
ocksa vill tata fonster och andra omraden for
att halla oonskade dammpartiklar ifran ett for-
don. Bikarbonat i sig ar praktiskt taget ofarlig
for miljon men i hogre koncentrationer kan det
orsaka missfargning av vegetation. Forsiktighet
bor iakttas for att undvika overdriven expone-
ring pa vaxtlivet.

2. Nar du ar klar kan plastfolien med de anvanda
blastermedlen rullas upp och kastas. Kvarva-
rande material bor sopas upp och bortskaf-
fas, kvarvarande soda ar vattenloslig och kan

spolas bort.

Viktigt: Aven om bikarbonat som bléastermedel &r
sakert i de flesta situationer bor forsiktighet iakt-
tas vid anvandning eller bortforskaffande eftersom
farg eller beldggning kan innehalla vissa halter av
farliga amnen sdsom bly, zinkkromat, etc.

Anvéndning och underhall

o Anvand klammor eller en annan metod som
sakerstaller att arbetsstycket ar stabilt place-
rat. Att halla arbetsstycket for hand eller mot
kroppen ar instabilt och kan leda till forlorad
kontroll.

o Anvand ratt verktyg for andamalet. Det ratta
verktyget gor jobbet battre och sakrare.

o Anvand inte verktyget om strombrytaren inte
fungerar korrekt. Alla verktyg som inte kan
styras ar farliga och maste repareras.

« Koppla ur verktyget fran luftkallan innan du gor
nagra justeringar, byter tillbehor eller lagra verk-
tyget. Sddana forebyggande sakerhetsatgarder
minskar risken att starta verktyget oavsiktligt.
Stang av lufttillforseln, tom eventuellt kvarva-
rande lufttryck och vrid ventilen till dess av-
stangning innan du lamnar arbetsomradet.

o Forvara blastern pa en séker plats utom rack-
hall for barn och obehoriga. Maskinen ar farlig i
handerna pa fel anvandare.

« Var nogrann och underhall maskinen val. Det
minskar risken for skador och 6kar maskinens
livslangd.



« Kontrollera att blastern inte har nagra skadade
delar och att alla funktioner fungerar korrekt.
Om fel upptacks kontakta Verktygsboden.

« Anvand endast orginal reservdelar annars 6kar
risken for personskador.
Lufttillforsel

Forhindra explosion och allvarliga skador genom
att: Anvanda endast:

e ren
o torr
o reglerad

e komprimerad

luft for att driva sodablastern. Anvand inte syre,
koldioxid, brannbara gaser eller nagon annan flask-
gas som kalla.

1. Installera filter, justerare med tryckmatare, in-
line avstangningsventil och snabbkoppling for
basta anvandning. En in-line avstangnings kul-
ventil ar en viktig sakerhetsanordning eftersom
den styr luftens tillforsel aven om luftslangen
spricker. Avstangningsventilen bor vara en kul-
ventil eftersom den kan stangas snabbt. Obs!
Ett oljesystem bor inte anvandas med denna
sodablaster. Oljan kommer att blandas med
materialet som drivs, vilket leder till oonskat
resultat.

2. Anslut en luftslang till kompressorns luftut-tag.
Anslut luftslangen till luftventilen i soda-blas-
tern. Andra komponenter, som en snabbkopp-
ling kommer att gora anvandningen effektivare
men &r inte nddvandiga. Obs! Luftflédet och
darfor blasterprestandan, kan hindras av un-
derdimensionerade komponenter. Luftslangen
maste vara tillrackligt Iang for att na arbetsom-
radet med tillracklig extra langd for att mojlig-
gora fri rorlighet under arbetet.

3. Stang sodablasterns ventiler.

4. Stang in-line avstangningsventilen mellan
kompressorn och blastern.

5. Satt pa kompressorn enligt tillverkarens
anvisningar och lat den bygga upp tryck tills
det avtar.

6. Justera luftkompressorns regulator sa den
inte overstiger blasterns maximala kapacitet.
Justera trycket gradvis, medan du kontrollerar
luftmataren for att stélla in ratt tryckomrade.

7. Kontrollera luftanslutningarna efter lackage.

8. Om sodablastern inte kommer att anvdndas pa
ett tag, stang av och tdom tankarna. Stang venti-
lerna for att forhindra oavsiktlig anvandning.

Forsiktighetsatgéarder for vibration

Detta verktyg vibrerar under anvandning. Upprepad
eller langvarig exponering for vibrationer kan orsa-
ka tillfallig eller permanent fysisk skada, sarskilt for
hander, armar och axlar. Vidtag féljande atgarder
for att minska risken for vibrationsrelaterad skada:

1. Den som anvander vibrerande verktyg regel-
bundet eller under en langre period bor forst
undersoOkas av en lakare och sedan regelbundet
genomga medicinsk kontroll for att sékerstélla
att medicinska problem inte orsakas eller for-
varras av anvandningen. Gravida kvinnor eller
personer med nedsatt blodcirkulation i hander,
handskador, skdor pa nervsystemet, diabetes
eller Raynauds sjukdom borde inte anvanda
denna maskin. Om du kanner nagra symtom
relaterade till vibrationer (t ex stickningar,
domningar och vita eller blaa fingrar), kontakta
lakare sa snart som mojligt.

2. ROk inte under anvandning. Nikotin minskar
blodtillforseln till hdnder och fingrar, vilket okar
risken for vibrationsskador.

3. Anvand lampliga handskar for att minska vibra-
tionseffekterna.

4. Ta pauser i arbetet.

5. Greppa verktyget sa latt som mojligt (samti-digt
som du haller séker kontroll 6ver det).
Lat verktyget gora arbetet.

6. FOr att minska vibrationen anvand blastern pa
korrekt satt och om onormal vibration uppstar
sluta omedelbart.

Tips och rad

« Sodablastrade omraden ldmnar bakom sig
en tunn skyddande film som, om den lamnas
orord, kommer att forhindra rostbildning pa
bara stalytor i upp till 6 veckor eller &nnu langre
om den forvaras i en torr, skyddat miljo. Denna
film maste tas bort innan malning genom att
man torkar av med en fuktig mikrofiberduk.
Det ar bast att blota duken, vrida ur éverflodigt
vatten, torka av sodaresterna, skolj ofta och folj
omedelbart upp med en torr luddfri handduk.

« Eventuell soda som kan finnas kvar pa objektet
eller i sprickor kan tas bort med en blaspistol
med fin spets.

« FOr att forhindra rost eller oxidation pa metal-
lytor efter vatten men innan malning, behandla
ytorna med rostskyddande medel.

Val av blastermedel

Den typ av blastermedel som du véljer kommer att
kraftigt paverka den tid som behdvs fora att ren-
gora en viss ytarea. Slipade material kan omfatta
glaspérlor, aluminiumoxid, stalsand osv. For basta
resultat, anvand blastermedel pa 165 um eller
finare.



o Setill att blastermedlet du anvander ar helt
torrt. Fuktigt slipmedel kan orsaka igensattning
av din blaster.

e« Om du kan ateranvanda bldstermedlet, kom
ihag att det slits ut. Efter anvandning blir kor-
nen mjukare och rundare, vilket minskar slip
effekten.

o Ateranvint blastermedel kan ocks& orsaka
igenséttning pa grund av skrédp (pappersbitar
eller rostflaggor) som kan inga i blandningen M6X35 Skruv
fran tidigare anvandning.

Varning: Var sarskilt uppmarksam pa blaster-
slangen, blastermedelsventilen och munstycket
eftersom de slits ut mycket snabbare an de andra
delarna. Blasterslangen maste omedelbart bytas
ut om den boérjar lacka eller om blasor visar sig pa
dess yta. Anvand inte blastern om nagon av dessa
symtom visar sig

Handtag

Sexkantig mutter

Symbhol | Beskrivning

PSI Pounds per square inch of pressure

CFM Cubic Feet per Minute flow

SCFM Cubic Feet per Minute flow Steg 2: Montera handtaget och M6X35 skruy,

at standard conditions M6 bricka, sexkantig mutter i tanken ordentligt.

NPT National pipe thread, tapered

NPS National pipe thread, straight
Montering

M6 Bricka Sexkantig mutter

4X35 Saxsprint

' Stodstolpe

Steg 3: Montera 6" hjulet och axeln, M12 brickor,
stodben och 4x35 saxsprint.

Steg 1: Montera de tva stodstolparna och M6x35
skruv, M6 brickor, sexkantigmutter med tanken.



Sandror

Luftslang

| Tryckregulator

_Luftslang

Steg 4: Montera sandroret till tanken, dra at med
ringen.

Flodesreglage

Luftinloppsanslutning

Steg 6: Montera manometern pa tanken.Montera
darefter luftslangarna.

Steg 5: Montera flodesreglaget och luftinloppsanslutningen
till tanken ordentligt och dra at.



Ritningsheskrivning:
Tank
Tryckregulator
Stodben
Sexkantig mutter
M6 bricka
M6x35 skruv
Handtag
Flodesreglage

9. Luftintag

10. Sandror

11. Stodben

12. 4X35 saxprint
13. 6" hjul

14. M12 bricka

15. Axel

© No a2




EG FORSAKRAN OM OVERENSSTAMMELSE

2006/42/EC (MD), 2014/35/EU (LVD
ORIGINAL DEKLARATION

Vi, tillverkaren

Foretag: Verktygsboden Erfilux AB
Adress: Kallbdacksrydsgatan 1, SE-507 42 Boras, Sweden
Telefon: +46-33-2026 53

intygar att konstruktion och tillverkning av denna produkt marknadsférd under varumirket PELA

Maskin: Sand- & Sodablaster, 26L
Typbeteckning: XH-DSB07G
Artikelnummer: 497943

foljer alla relevanta bestimmelser i enlighet med 2006/42/EC (MD) & 2014/35/EU (LVD).

For att tillmdtesga ovan ndmnt direktiv har féljande harmoniserade standarder anvénts:

Standard:

EN 12100:2010 EN 60204-1:2018 EN 1248:2001+A1:2009
Notified body: ICR Polska Co. Ltd

Certifikatsnummer: ICR Polska/VC/HT211101

Denna produkt var CE markt ar: 2022

Person som dr behdrig att stdlla samman den tekniska dokumentationen, och ir etablerad i
Europeiska gemenskapen:

Namn: Lars Edwardsson
Adress: Kallbdcksrydsgatan 1, SE-507 42 Boras, Sweden

Denna deklaration galler uteslutande foér produkten i det utférande den placerades pd marknaden
och exkluderar komponenter som tillférs nu och/eller vid senare tillfille av slutkunden.

Stad och land: Boras, Sverige Datum: 12/05/2022
Namn: Ted Berglund
Befattning: Inkdpare

VERKTYGSBODEN




Contact

PELA Tools

Solangsvagen 13

SE-513 70 Boras

Phone: 033-202650

E-mail: order@pelatools.com

Environmental protection/

Scrapping

Recycle any unwanted material,

do not throw it in the household

rubbish. All machines, accessories [ ]
and packaging must be sorted and left

at a recycling center and disposed

of in an environmentally friendly

manner.

Specifications

Tank volume 2x26 L
Hose length 2,5m
Working pressure 4-8 bar

Air consumption ca 170-200 I/min

Safety instructions

Carefully read the manual safety instructions before using the
blower unit. WARNING! When using the blaster, basic precau-
tions must always be followed to reduce the risk of personal
injury and other risks caused by excessive air pressure.

1. The compressed air must be free of contaminants such
as oil, moisture, etc. Do not use the blower in damp, wet
or poorly lit workplaces. Do not expose the blaster to rain.
Keep the work surface well lit and clean. Dirty workplaces
involve a greater risk of accidents.

2. Wear safety goggles and hearing protection. Always use
approved protective equipment when using the blaster.
NOTE! Ordinary glasses are not goggles. Use hearing pro-
tection as the blaster noise level may be high during use.
Use only recommended blasting materials.

3. Keep children away from equipment. Children are not al-
lowed to stay near the work area. Never let them use the
blaster or its accessories.

4. When the blaster is not in use, it should be stored in a dry
place to protect against rust, and in a locked space so that
it is stored out of reach of children.

5. Do not use the unit if you are tired or under the influence
of drugs, alcohol or medication.

6. Always disconnect the compressed air connection from
the tank when filling with blasting agents, storage or when
adjusting or replacing accessories.

7. Never let your habit of blasting lead to carelessness.
8. Checkthat all parts are in place and in good condition and
are correctly mounted.

9. Maintain the correct air pressure during work. If the pres-
sure rises above the maximum pressure, stop all work
immediately and disconnect the air pressure from the
blasting tank.

The workplace, pre- and post-work

Soda blasting generates a significant amount of
fine bicarbonate dust. If you work outdoors, be
aware of wind direction, open windows, vegetation,
vehicles, pets, people and property. It may be hel-
pful to place a fine water mist, from a garden hose
or a lawn sprinkler, in the wind direction from the
blasting site to suppress dust formation.

1. Itis bestto cover the work area under and
around the vehicle or object to be blasted
with a tarpaulin or a thicker plastic material
to facilitate decontamination. You may also
want to seal windows and other areas to keep
unwanted dust particles away from a vehicle.
Bicarbonate itself is practically harmless to the
environment, but in higher concentrations it can
cause discoloration of vegetation. Care should
be taken to avoid excessive exposure to plant
life.

2. When you are done, the plastic foil with the
blasting agents used can be rolled up and th-
rown away. Residual material should be swept
up and disposed of, residual soda is water

soluble and can be flushed away.

Important: Although bicarbonate as a blowing
agent is safe in most situations, caution should be
exercised when using or disposing of it as paint or
coating may contain certain levels of hazardous
substances such as lead, zinc chromate, etc.

Use and maintenance

o Use clamps or another method that ensures
that the workpiece is stably positioned. Holding
the workpiece by hand or against the body is
unstable and can lead to loss of control.

o Use the right tools for the purpose. The right
tool makes the job better and safer.

« Do not use the tool if the power switch does not
work properly. All tools that can not be control-
led are dangerous and must be repaired.

« Disconnect the tool from the air source before
making any adjustments, changing accesso-
ries, or storing the tool. Such preventive safety
measures reduce the risk of starting the tool
unintentionally. Turn off the air supply, drain any
remaining air pressure and turn the valve to its
shut-off before leaving the work area.

« Keep the blaster in a safe place out of the
reach of children and unauthorized persons.
The machine is dangerous in the hands of the
wrong user.

o Be careful and maintain the machine well. This

reduces the risk of injury and increases the
service life of the machine.



o Check that the blaster has no damaged parts
and that all functions work correctly. If errors
are detected, contact Verktygsboden.

o Use only original spare parts otherwise the risk
of personal injury increases.

Air supply

Prevent explosion and serious injury by: Use only:
o clean

o dry

« regulated

o compressed

air to power the soda blast. Do not use oxygen, car-
bon dioxide, flammable gases or any other cylinder
gas as a source.

1. Install filters, adjusters with pressure gauges,
in-line shut-off valve and quick coupling for
best use. An in-line shut-off ball valve is an
important safety device because it controls
the supply of air even if the air hose bursts.
The shut-off valve should be a ball valve as
it can be closed quickly. Note! An oil system
should not be used with this soda blaster.
The oil will mix with the material being driven,
leading to unwanted results.

2. Connect an air hose to the compressor air
outlet. Connect the air hose to the air valve in
the soda blower. Other components, such as
a quick coupler, will make use more efficient
but are not necessary. Note! The air flow and
therefore the blasting performance, can be
obstructed by undersized components. The air
hose must be long enough to reach the work
area with sufficient extra length to allow free
movement during work.

3. Close the soda blast valves.

4. Close the in-line shut-off valve between the
compressor and the blower.

5. Switch on the compressor according to the
manufacturer's instructions and let it build up
pressure until it subsides.

6. Adjust the air compressor regulator so that
it does not exceed the maximum capacity of
the blast. Gradually adjust the pressure while
checking the air gauge to set the correct
pressure range.

7. Check the air connections for leaks.

8. If the soda blast will not be used for a while,
turn off and empty the tanks. Close the valves
to prevent accidental use.

Vibration precautions

This tool vibrates during use. Repeated or pro-
longed exposure to vibration may cause temporary
or permanent physical injury, especially to hands,
arms and shoulders. Take the following measures
to reduce the risk of vibration-related injury:

1. Anyone who uses vibrating tools regularly or for
an extended period of time should first be exa-
mined by a physician and then undergo regular
medical check-ups to ensure that medical pro-
blems are not caused or exacerbated by their
use. Pregnant women or people with impaired
blood circulation in the hands, hand injuries,
nerv system damage, diabetes or Raynaud's
disease should not use this machine. If you
experience any symptoms related to vibration
(eg tingling, numbness and white or blue fing-
ers), consult a doctor as soon as possible.

2. Do not smoke during use. Nicotine reduces the
blood supply to the hands and fingers, which
increases the risk of vibration damage.

3. Wear suitable gloves to reduce the vibration
effects.

4. Take breaks from work.

5. Grasp the tool as easily as possible (while
maintaining secure control over it). Let the tool
do the work.

6. To reduce vibration, use the blaster properly
and if abnormal vibration occurs, stop imme-
diately.

Tips and advice

o Soda-blasted areas leave behind a thin protec-
tive film which, if left untouched, will prevent
rust formation on bare steel surfaces for up to
6 weeks or even longer if stored in a dry, pro-
tected environment. This film must be removed
before painting by wiping with a damp micro-
fiber cloth. It is best to wet the cloth, wring out
excess water, wipe off the soda residue, rinse
often and follow up immediately with a dry lint-
free towel.

o Any soda that may be left on the object or in
cracks can be removed with a blow gun with
a fine tip.

« To prevent rust or oxidation on metal surfaces
after water but before painting, treat the surfa-
ces with anti-corrosion agent.

Choosing blast agent

The type of blasting agent you choose will greatly
affect the time required to clean a particular sur-
face area. Grinding materials can include glass
beads, alumina, steel sand, etc. For best results,
use blasting agents of 165 ym or finer.



o Make sure that the blasting agent you use is
completely dry. Damp abrasive can cause clog-
ging of your blaster.

« If you can reuse the blasting agent, remember
that it wears out. After use, the grains become
softer and rounder, which reduces the grinding
effect.

« Recycled blasting agents can also cause clog-
ging due to debris (pieces of paper or rust
flags) that may be included in the mixture from
previous use.

Warning: Pay special attention to the blast hose,
blast valve and nozzle as they wear out much
faster than the other parts. The blast hose must be
replaced immediately if it starts to leak or if blisters
appear on its surface. Do not use the blaster if any
of these symptoms occurs

Symbol Description
PSI Pounds per square inch of pressure
CFM Cubic Feet per Minute flow
SCFM Cubic Feet per Minute flow
at standard conditions
NPT National pipe thread, tapered
NPS National pipe thread, straight

Assembly instructions

'Support post

Step 1: Fit the two support posts and M6x35 screw,
M6 washers, hexagon nut with the tank.

M6 Washer Hexagon nut

Handle

Hexagon nut

M6X35 Screw

Step 2: Mount the handle with M6X35 screw, M6
washer, hexagon nut in the tank properly.

Support legs

4X35 Cotter pin

Step 3: Mount the 6" wheel and axle, M12 washers,
support legs and 4x35 cotter pin.



Sand pipes

Pressure regulator

Air hose

Step 4: Mount the sand pipe to the tank, tighten
with the ring.

Flow control

Air inlet connection

Step 6: Mount the pressure regulator on the tank.
Then mount the air hoses.

Step 5: Mount the flow control and the air inlet connection
to the tank properly and tighten.



Drawing description:

© No g~ =

L (L W G SR Vo )
a b WO N = O

Tank

Pressure regulator
Support legs
Hexagon nut

M6 washer
M6x35 screw
Handle

Flow control

Air intake

. Sand pipes

. Support legs

. 4X35 saxprint
. 6" wheels

. M12 washer

. Wheel axle




EU Declaration of Conformity

2006/42/EC (MD), 2014/35/EU (LVD
ORIGINAL Declaration of conformity

We, the manufacturer

Company: Verktygsboden Erfilux AB
Address: Kallbacksrydsgatan 1, SE-507 42 Boras, Sweden
Telephone number: +46-33-2026 53

Declare under our sole responsibility that the product

Machine: Sand- & soda blaster, 26L
Type designation: XH-DSBO7G
Iltem number: 497943

fulfils all relevant provisions of the 2006/42/EC (MD) & 2014/35/EU (LVD).

To show compliance with the above Directives the following harmonized standards have been
applied:

Standards:

EN 12100:2010 EN 60204-1:2018 EN 1248:2001+A1:2009
Notified body: ICR Polska Co. Ltd

Certificate number: ICR Polska/VC/HT211101

This product was CE marked year: 2022

Person authorized to compile the technical file:
Namn: Lars Edwardsson
Adress: Kallbacksrydsgatan 1, SE-507 42 Boras, Sweden

This declaration relates to the machinery in the state in which it was placed on the market and
excludes components which are added and/or operations carried out subsequently by the final user.

City and Country: Boras, Sverige Date: 12/05/2022
S . S

Name: Ted Berglund

Position: Purchaser

VERKTYGSBODEN




Kontaktinformasjon

Verktygsboden Erfilux AB
Kallbacksrydsgatan 1

SE-507 42 Boras

Telefon: 033-202650

E-post: info@verktygsboden.se

Miljavern/ kassering

Gjenvinn ugnsket materiale.

Det skal ikke kastes sammen med
husholdningsavfallet. Alle maskiner,
alt tilbehgr og all emballasje

skal sorteres og leveres til en
gjenvinningsstasjon og kasseres

pa en miljgvennlig mate.

Spesifikasjoner

Tankvolum 2x26 liter

Slangelengde 2,5m

Arbeidstrykk 4-8 bar

Luftforbruk ca. 170-200 I/min.

Sikkerhetsinstruksjoner

Les ngye gjennom sikkerhetsinstruksjonene i hand-
boken fgr du bruker enheten. ADVARSEL! Nar du
bruker enheten, ma grunnleggende forholdsregler
alltid fglges for a redusere faren for personskade og
andre farer forarsaket av for hgyt lufttrykk.

1. Trykkluften ma vaere fri for forurensninger som olje,
fuktighet, o.l. Ikke bruk enheten pa fuktige, vate eller darlig
opplyste arbeidsplasser. Ikke utsett enheten for regn. Hold
arbeidsflaten godt opplyst og ren. Rotete arbeidsplasser
kan medfgre stgrre fare for ulykker.

2. Bruk vernebriller og hgrselsvern. Bruk alltid godkjent
verneutstyr nar du bruker enheten. OBS! Vanlige briller
fungerer ikke som vernebriller. Bruk hgrselsvern fordi
stgynivaet kan vaere hgyt under bruk av enheten. Bruk kun
anbefalte blasemidler.

3. Hold barn unna utstyret. Barn har ikke lov til 4 oppholde
seg i narheten av arbeidsomradet. La aldri barn handtere
enheten eller tilbehgret dens.

4. Nér enheten ikke er i bruk, bgr den oppbevares pé et tgrt
sted for & beskytte den mot rust. Den bgr ogsa oppbeva-
res i et Iast rom sa den er utilgjengelig for barn.

5. Ikke bruk enheten hvis du er trgtt eller pavirket av narko-
tika, alkohol eller medisiner.

6. Koble alltid trykklufttilkoblingen fra tanken ved péafylling
av blasemiddel, ved oppbevaring av enheten, eller ved
justering eller utskifting av utstyr.

7. Laaldri dine egne vaner fgre til uforsiktig bruk av enheten.

8. Kontroller at alle deler sitter pa plass, er riktig montert og
i god stand.

9. Oppretthold riktig lufttrykk under arbeidet. Hvis trykket
stiger over makstrykket, stans alt arbeid umiddelbart og
koble lufttrykkledningen fra blasetanken.

Arbeidsplassen, fer- og etterarbeid

Sodablasing genererer en betydelig mengde fint
bikarbonatstgv. Hvis du jobber utendgrs, vaer opp-
merksom pa vindretning, dpne vinduer, vegetasjon,
kijoretgyer, kjaeledyr, personer og eiendom. Det kan
vaere nyttig & plassere en fin vanndusj fra en hage-
slange og en vannspreder i vindretningen der hvor
sodablasingen utfgres, for a redusere stgvdannelsen.

1. Det er best a dekke arbeidsomradet under og
rundt kjgretgyet eller gjenstanden som skal
sodablases med en presenning eller tykk plast,
for & gjgre det lettere & rydde opp. Det kan ogsa
veere lurt & forsegle vinduer og andre omrader
for & holde ugnskede stgvpartikler borte fra et
kjgretgy. Bikarbonat i seg selv er praktisk talt
ufarlig for miljget, men i hgyere konsentrasjoner
kan det forarsake misfarging av vegetasjon.
Veer forsiktig for @ unnga overdreven ekspone-
ring for planteliv.

2. Nar du er ferdig, kan plastfolien med det
brukte bldsemiddelet rulles sammen og
kastes. Materialrester bgr feies opp og kastes.
Restene av sodaen (bikarbonat) er vannlgselige

og kan spyles bort.

Viktig: Selv om bruk av bikarbonat som blasemid-
del i seg selv er trygt i de fleste situasjoner, bgr det
utvises forsiktighet fordi noen typer maling eller
belegg kan inneholde farlige stoffer som bly, sink-
kromat, o.l.

Bruk og vedlikehold

o Bruk klemmer eller en annen metode som gjar
at arbeidsstykket holdes forsvarlig pa plass.
Hvis du holder arbeidsstykket med handen eller
mot kroppen, vil det vaere ustabilt og gjgre at du
mister kontrollen.

o Brukriktig verktgy til arbeidet. Med riktig
verktgy kan du utfgre en bedre jobb pa en
tryggere mate.

o Ikke bruk enheten hvis strambryteren ikke virker
som den skal. Alle enheter som ikke kan styres
er farlige og ma repareres.

« Koble enheten fra luftkilden fgr du foretar
justeringer, bytter tilbehgr eller setter den bort
til oppbevaring. Slike forebyggende sikkerhets-
tiltak reduserer faren for at enheten starter ved
et uhell. Steng lufttilfgrselen, slipp ut eventuelt
gjenveerende lufttrykk og steng ventilen fgr du
forlater arbeidsomradet.

« Oppbevar sodablaseren pa et trygt sted util-
gjengelig for barn og uautoriserte personer. En-
heten er farlig hvis den brukes av feil personer.



« Veer forsiktig og vedlikehold enheten godt.
Dette reduserer risikoen for skader og gker en-
hetens levetid. Sjekk at sodablaseren ikke har
skadde deler og at alle funksjoner virker som
de skal. Hvis du oppdager feil, kontakt Verk-
tygsboden.

o Bruk kun originale reservedeler, hvis ikke vil
faren for personskade gke.
Lufttilfersel

Forhindre eksplosjon og alvorlige skader ved a
gjere fglgende: Bruk kun:

e ren,
o torr,
e regulert,

o komprimert

luft til & drive sodablaseren. lkke bruk oksygen,
karbondioksid, brennbare gasser eller annen gass
pa flasker som kilde.

1. Installer filter, justeringsenhet med trykkmaler,
in-line-stengeventil samt hurtigkobling for best
mulig bruk. En in-line stengeventil med kule er
en viktig sikkerhetsanordning, fordi den styrer
lufttilfgrselen selv om luftslangen sprekker.
Stengeventilen bgr ha en kule fordi den kan
lukkes raskt. Obs! Ikke bruk et oljesystem med
denne sodablaseren. Oljen vil blande seg med
materialet som blases ut, noe som vil fgre til
ugnskede resultater.

2. Koble en luftslange til luftuttaket pa kompres-
soren. Koble luftslangen til luftventilen pa so-
dablaseren. Andre komponenter, for eksempel
en hurtigkobling, vil gi mer effektiv bruk, men er
ikke ngdvendig. Obs! Luftstreammen, og dermed
blaseytelsen, kan hindres av for sma kompo-
nenter. Luftslangen ma vaere lang nok til @ na
arbeidsomradet med nok ekstra lengde til a gi
fri bevegelse under arbeidet.

3. Steng ventilene pa sodablaseren.

4. Steng in-line-stengeventilen mellom kompres-
soren og sodablaseren.

5. Sla pa kompressoren i henhold til produsentens
instruksjoner, og la den bygge opp trykk til det
avtar.

6. Juster regulatoren pa luftkompressoren slik
at sodabldserens maksimale kapasitet ikke
overskrides. Juster trykket gradvis mens du
kontrollerer luftmaleren, for & stille inn riktig
trykkomrade.

7. Kontroller lufttilkoblingene for lekkasje.

8. Huvis sodablaseren ikke skal brukes pa en
stund, sla den av og tem tankene. Steng venti-
lene for & forhindre utilsiktet bruk.

Forholdsregler for vibrasjon

Denne enheten vibrerer under bruk. Gjentatt eller
langvarig eksponering for vibrasjoner kan forarsake
midlertidig eller permanent fysisk skade, spesielt
pa hender, armer og skuldre. Ta fglgende tiltak for &
redusere risikoen for vibrasjonsrelaterte skader:

1. Alle som bruker vibrerende verktgy regelmes-
sig eller over lengre tid bgr fgrst undersgkes av
en lege, og deretter gjennomga regelmessige
medisinske undersgkelser for a sikre at medis-
inske problemer ikke forarsakes eller forverres
ved bruk av denne enheten. Gravide kvinner
eller personer som har nedsatt blodsirkulasjon
i hendene, handskader, nerveskader, diabetes
eller Raynauds fenomen bgr ikke bruke denne
enheten. Hvis du opplever symptomer relatert til
vibrasjon (f.eks. prikking, nummenhet og hvite
eller bla fingre), kontakt lege sa snart som mulig.

2. lkke rgyk nar du bruker enheten. Nikotin reduse-
rer blodtilfgrselen til hendene og fingrene, noe
som gker risikoen for vibrasjonsskader.

3. Bruk egnede hansker for a redusere vibrasjons-
effektene.

4. Ta pauser under arbeidet.

5. Hold enheten sa lett som mulig (samtidig som
du har full kontroll over den). La enheten gjgre
jobben.

6. For aredusere vibrasjon, bruk sodablaseren pa
riktig mate. Hvis det oppstar unormale vibrasjo-
ner, stopp umiddelbart.

Rad og tips

« Sodablaste omrader etterlater en tynn beskyt-
tende hinne. Hvis den star urgrt, vil hinnen
forhindre at det dannes overflaterust pa bare
staloverflater i inntil 6 uker, eller enda lenger
dersom de lagres pa et tgrt og beskyttet sted.
Denne hinnen ma fjernes fgr overflaten males.
Du gjgr det ved a torke over overflaten med en
fuktig mikrofiberklut. Det er best a fukte kluten,
vri ut overflgdig vann, tgrke av bikarbonatreste-
ne, skylle godt og tgrke overflaten umiddelbart
med et tort, lofritt handkle.

Eventuelt gjenvaerende bikarbonatrester som
finnes pa gjenstanden eller i sprekker kan
fijernes med en blasepistol med en fin spiss.

« For a forhindre at metalloverflater ruster eller
oksiderer pa grunn av vann, skal overflatene
behandles med rustbeskyttende middel fgr de
males.

Valg av blasemiddel

Hvilken type blasemiddel du velger vil i stor grad
pavirke hvor lang tid det tar a rengjgre et bestemt
flateareal. Slipende materialer kan inkludere glass-
perler, aluminiumoksid, stdlsand o.l. For best resul-
tat, bruk et blasemiddel pa 165 pm eller finere.



o Sgrg for at blasemiddelet du bruker er helt tgrt.
Fuktig bldsemiddel kan gjgre at sodabldseren
tilstoppes.

o Hvis du kan gjenbruke et blasemiddel, husk at
det slites ut. Etter bruk blir kornene mykere og
rundere, noe som reduserer slipeeffekten.

« Gjenbrukt blasemiddel kan ogsa forarsake
tilstopping pa grunn av rusk (papirbiter eller
rustflak) som kan veere inkludert i blandingen
fra tidligere bruk. M6X35-skrue

Advarsel: Veer spesielt oppmerksom pa blase-
slangen, ventilen for blasemiddel og munnstykket,
da de slites ut mye raskere enn de andre delene.
Blaseslangen ma skiftes umiddelbart hvis den
begynner a lekke eller hvis det oppstar blemmer pa
overflaten dens. Ikke bruk sodablaseren hvis noen
av disse symptomene oppstar.

Handtak

Sekskantmutter

Symbol | Beskrivelse
PSI Pounds per square inch of pressure
CFM Cubic Feet per Minute flow

SCFM Cubic Feet per Minute flow ;
at standard conditions Trinn 2: Monter handtaket med M6X35-skrue,
NPT National pipe thread, tapered Mé6-skive og sekskantmutter forsvarlig pa tanken.

NPS National pipe thread, straight

Montering

M6-skive og
sekskantmutter

Stgttebein

' Stgttestolpe

4X35-saksestift

Trinn 3: Monter 6 tommers hjul og aksel,

M12-skiver, stgttebein og 4x35-saksestift.
Trinn 1: Monter de to stgttestolpene med M6x35-

skrue, M6-skiver og sekskantmutter pa tanken.



Sandrgr

_Luftslange

Trinn 4: Monter sandrgret til tanken, stram med
ringen.

Flytkontroll

Tilkobling av luftinntak

Trinn 6: Monter manometeret pa tanken.
Monter deretter luftslangene.

Trinn 5: Fest flytkontrollen og luftinntakstilkoblingen
forsvarlig til tanken, og stram til.



Tegningshbeskrivelse:

© No a2

Tank
Trykkregulator
Stgttebein
Sekskantmutter
M6-skive
M6x35-skrue
Handtak
Flytkontroll
Luftinntak

. Sandregr

. Stgttebein

. 4X35-saksestift
. 6" hjul

. M12-skive

. Aksel




EF-SAMSVARSERKLARING

2006/42/EC (MD), 2014/35/EU (LVD)
OPPRINNELIG ERKLERING

Vi, produsenten,

Foretak: Verktygsboden Erfilux AB
Adresse: Kallbacksrydsgatan 1, SE-507 42 Boras, Sweden
Telefon: +46-33-2026 53

forsikrer om at konstruksjon og produksjon av dette produktet markedsfgrt under varemerket
PELA

Maskin: Sand- og sodablasere, 26L
Typebetegnelse: XH-DSBO7G
Artikkelnummer: 497943

folger alle relevante bestemmelser i samsvar med maskindirektivet 2006/42/EC (MD) &
2014/35/EU (LVD).

For 4 overholde ovennevnte direktiv er fglgende harmoniserte standarder brukt:

Standard:

EN 12100:2010 EN 60204-1:2018 EN 1248:2001+A1:2009
Kontrollorgan: ICR Polska Co. Ltd.

Sertifikatnummer: ICR Polska/VC/FIT211101

Dette produktet ble CE-merket i: 2022

Person som er autorisert til & utarbeide den tekniske dokumentasjonen, og er etablert i Det
europeiske fellesskapet:

Navn: Lars Edwardsson

Adresse: Kallbacksrydsgatan 1, SE-507 42 Boras, Sweden

Denne erklaeringen gjelder utelukkende for produktet i den utfgrelsen det ble markedsfgrt i og
utelukker komponenter som sluttkunden legger til na og/eller pa et senere tidspunkt.

Poststed og land: Boras, Sverige Dato: 12/05/2022
c\-_.__ (d“("\——— o2k C )

Navn: Ted Berglund

Stilling: Innkjgper

VERKTYGSBODEN




Kontaktoplysninger

Verktygsboden Erfilux AB
Kallbacksrydsgatan 1

SE-507 42 Boras

Telefon: +46 033-202650
E-mail: info@verktygsboden.se

Miljebeskyttelse/skrotning

Genanvend ugnsket materiale, smid
det ikke i husholdningsaffaldet.
Alle maskiner, alt tilbehgr og al

emballage skal sorteres og afleveres [
pa en genbrugsstation, hvor det skal
bortskaffes pa en miljgvenlig made.
Specifikationer
Tankvolumen 2x26 |
Slangeleengde 2,5m
Arbejdstryk 4-8 bar
Luftforbrug ca. 170-200 I/min

Sikkerhedsinstruktioner

Laes brugsanvisningens sikkerhedsinstruktioner
omhyggeligt, inden du anvender bleeserenheden.
ADVARSEL! Nar blaeseren anvendes, skal grundleeg-
gende forholdsregler altid fglges for at reducere
risikoen for personskade og andre risici forarsaget
af for hgjt lufttryk.

1. Trykluften skal vaere fri for forurenende stoffer sdsom olie,
fugt osv. Anvend ikke blaeseren pa fugtige, vade eller dar-
ligt oplyste arbejdspladser. Udsaet ikke blaeseren for regn.
Hold arbejdsfladen godt oplyst og ren. Beskidte arbejdsp-
ladser medfgrer stgrre risiko for ulykker.

2. Beer sikkerhedsbriller og hgreveern. Anvend altid godkendt
sikkerhedsudstyr, nar du anvender blaeseren. BEM/ZRK!
Almindelige briller er ikke sikkerhedsbriller. Baer hgrevaern,
da blaeserens lydniveau kan vaere hgjt under brug. Anvend
kun anbefalede bleesematerialer.

3. Hold bern vaek fra udstyret. Barn mé ikke opholde sig i
naerheden af arbejdsomradet. Lad dem aldrig anvende
blaeseren eller dens tilbehgr.

4. Nar blzeseren ikke anvendes, skal den opbevares pé et tgrt
sted for at beskytte mod rust samt i et aflast omrade, hvor
den er utilgaengelig for bgrn.

5. Anvend ikke enheden, hvis du er trzet eller pavirket af stof-
fer, alkohol eller medicin.

6. Kobl altid tryklufttilslutningen fra tanken ved péafyldning af
blaesemiddel, opbevaring eller ved justering eller udskift-
ning af tilbehar.

7. Lad aldrig dit kendskab og din erfaring med blaeseren fgre
til skgdeslgshed.

8. Kontrollér, at alle dele er pé plads, i god stand og sidder
korrekt monteret..

9. Hold det korrekte lufttryk under arbejdet. Hvis trykket
overstiger det maksimale tryk, skal alt arbejde omgaende
standses, og lufttrykket skal frakobles blaesertanken.

Arbejdspladsen, for- og efterarbejde

Sodablaesning genererer en betydelig maengde
fint bikarbonatstgv. Hvis du arbejder udendegrs,
skal du veere opmaerksom pa vindretning, abne
vinduer, vegetation, kgretgjer, kaeledyr, mennesker
og ejendom. Det kan veere nyttigt at placere en fin
vandtage, fra en haveslange og en plaenesprinkler,
i vindretningen fra blaesestedet for at undertrykke
stgvdannelsen.

1. Det er bedst at deekke arbejdsomradet under
og omkring det kgretgj eller den genstand, der
skal blaeses, med en pressening eller et tykkere
plastmateriale for at lette dekontamineringen.
Du vil maske ogsa forsegle vinduer og andre
omrader for at holde ugnskede stgvpartikler
veaek fra et kgretgj. Bikarbonat i sig selv er prak-
tisk talt uskadeligt for miljget, men i hgjere kon-
centrationer kan det forarsage misfarvning af
vegetation. Der bgr udvises forsigtighed for at
undga overdreven eksponering pa plantelivet.

2. Nar du er feerdig, kan plastfolien med de brugte
blaesemidler rulles sammen og bortskaffes.
Resterende materiale skal fejes op og bortskaf-
fes, resterende soda er vandoplgseligt og kan

skylles vaek.

Vigtigt: Selvom bikarbonat som bleesemiddel er en
sikker metode i de fleste situationer bgr der udvi-
ses forsigtighed ved anvendelse eller bortskaffelse,
eftersom maling eller belaegning kan indeholde
skadelige stoffer sdsom bly, kromateret zink osv.

Brug og vedligeholdelse

o Anvend klemmer eller en anden metode, der
sikrer, at emnet er stabilt placeret. At holde
emnet i handen eller mod kroppen er ustabilt
og kan betyde, at du mister kontrollen.

« Anvend det rigtige veerktgj til formalet. Det rig-
tige veerktgj gor arbejdet bedre og sikrere.

« Anvend ikke vaerktgjet, hvis afbryderen ikke
virker korrekt. Alt veerktgj, der ikke kan styres,
er farligt og skal repareres.

o Frakobl veerktgjet fra luftkilden, inden du fore-
tager justeringer, skifter tilbehgr eller opbevarer
vaerktgjet. Sddanne forebyggende sikkerheds-
foranstaltninger reducerer risikoen for at starte
veerktgjet utilsigtet. Sluk for lufttilfgrslen, tem
eventuelt resterende lufttryk ud og drej ventilen
til dens afspaerring, inden du forlader arbejds-
omradet.

o Opbevar blaeseren pa et sikkert sted utilgaeng-
eligt for bgrn og uvedkommende personer.
Maskinen er farlig i haenderne pa utreenede
brugere.



« Veer forsigtig og vedligehold maskinen om-
hyggeligt. Det reducerer risikoen for skader
og forleenger maskinens levetid. Kontroller, at
bleeseren ikke har beskadigede dele, og at alle
funktioner fungerer korrekt. Hvis der konstate-
res fejl, kontakt Verktygsboden.

« Anvend kun originale reservedele, ellers gges
risikoen for personskade.
Lufttilfersel

Forebyg eksplosion og alvorlig personskade ved at:
Kun anvende:

e ren
o tor
e reguleret

o komprimeret

luft til at drive sodablaeseren. Anvend ikke ilt, kuldi-
oxid, breendbare gasser eller nogen anden flaske-
gas som kilde.

1. Installer filter, justeringsanordning med trykma-
ler, inline-afspeerringsventil og hurtigkobling for
bedst mulig anvendelse. En inline-afspaerring-
skugleventil er en vigtig sikkerhedsanordning,
fordi den styrer lufttilfgrslen, selvom luftslang-
en brister. Afspaerringsventilen bgr vaere en
kugleventil, da den kan lukkes hurtigt. Bemaerk!
Et oliesystem bgr ikke anvendes med denne
sodablaeser. Olien vil blandes med det anvendte
materiale, hvilket fgrer til usnskede resultater.

2. Slut en luftslange til kompressorens luftudtag.
Slut luftslangen til luftventilen i sodablaeseren.
Andre komponenter, sasom en hurtigkobling,
vil ggre brugen mere effektiv, men er ikke
ngdvendige. Bemeerk! Luftflowet og dermed
blaeseydelsen kan hindres af underdimensione-
rede komponenter. Luftslangen skal vaere lang
nok til at na arbejdsomradet med tilstraekkelig
ekstra leengde til at muligggre fri bevaegelse
under arbejdet.

3. Luk sodablaeserens ventiler.

4. Luk inline-afspeaerringsventilen mellem kom-
pressoren og blaeseren.

5. Teend for kompressoren i henhold til producen-
tens anvisninger og lad den opbygge tryk, indtil
det aftager.

6. Indstil luftkompressorens regulator, sa den ikke
overstiger blaeserens maksimale kapacitet.
Juster trykket gradvist, mens du kontrollerer
luftmaleren for at indstille det korrekte trykom-
rade.

7. Kontrollér lufttilslutningerne for uteetheder.

8. Hvis sodablaeseren ikke skal anvendes i et
stykke tid, skal du tsmme og lukke tankene. Luk
ventilerne for at forhindre utilsigtet brug.

Forholdsregler ved vibration

Dette vaerktgj vibrerer under brug. Gentagen eller
langvarig udsaettelse for vibrationer kan forarsage
midlertidig eller permanent fysisk skade, iszer pa
haender, arme og skuldre. Traef fglgende forholds-
regler for at reducere risikoen for vibrationsrelate-
ret skade:

1. Enhver, der anvender vibrerende veerktgj re-
gelmaessigt eller i leengere tid, bor fgrst un-
dersgges af en laege og derefter gennemga
regelmaessige laegetjek for at sikre, at medicin-
ske problemer ikke forarsages eller forvaerres
af anvendelsen. Gravide kvinder eller personer
med nedsat blodcirkulation i haender, hands-
kader, skader pa nervesystemet, diabetes eller
Raynauds sygdom bgr ikke anvende denne
maskine. Hvis du oplever symptomer relateret
til vibrationer (f.eks. prikken, fglelseslgshed og
hvide eller bla fingre), skal du kontakte en laege
sa hurtigt som muligt.

2. Ryg ikke under anvendelse af maskinen. Nikotin
reducerer blodtilfgrslen til haender og fingre,
hvilket gger risikoen for vibrationsskader.

3. Beer egnede handsker for at reducere vibra-
tionseffekterne.

4. Hold pauser i arbejdet.

5. Tag fati veerktgjet sa let som muligt (samtidig
med, at du bevarer sikker kontrol over det).
Lad veerktgjet gore arbejdet.

6. For at reducere vibrationer skal du anvende
blaeseren korrekt, og hvis der opstar unormale
vibrationer, skal du stoppe med det samme.

Tips og rad

o Sodableeste omrader efterlader en tynd beskyt-
tende film, som, hvis den efterlades ubergrt,
forhindrer, at der dannes rust pa nggne stalo-
verflader i op til 6 uger eller endnu laengere, hvis
den opbevares i et tort, beskyttet miljg. Denne
film skal fjernes inden maling ved at tgrre den
af med en fugtig mikrofiberklud. Det er bedst at
fugte kluden, vride overskydende vand ud, tgrre
soda af, skylle ofte og straks fglge op med et
tert fnugfrit handklaede.

« Eventuel soda, der matte forblive pa genstan-
den eller i revner, kan fjernes med en blaesepi-
stol med fin spids.

« For at forhindre rust eller oxidation pa metalo-
verflader efter vandet, men fgr maling, behand-
les overfladerne med rustbeskyttelse.

Valg af blaesemiddel

Den type blaesemiddel, du veelger, vil i hgj grad pa-
virke den tid, det tager at rense et bestemt overfla-
deomrade. Slibende materialer kan omfatte glas-
perler, aluminiumoxid, stalsand osv. For at opna det
bedste resultat skal du anvende bleesemiddel pa
165 pm eller finere.



« Sgrg for, at det anvendte blaesemiddel er helt
tort. Fugtigt slibemiddel kan forarsage tilstop-
ning af din blaeser.

« Du kan genbruge bleesemiddel, men husk,
at blaesemiddel slides op efterhanden.

Efter brug bliver kornene blgdere og rundere,
hvilket mindsker slibeeffekten.

« Genbrugte slibemidler kan ogsa forarsage
tilstopning pa grund af snavs (papirstykker
eller rustflager), der kan indga i blandingen fra M6X35 skrue
tidligere brug.

Advarsel: Veaer saerlig opmaerksom pa blaeseslang-

en, blaesemiddelventilen og mundstykket, da de

slides meget hurtigere end de andre dele. Bleese-
slangen skal straks udskiftes, hvis den begynder at
leekke, eller hvis der dannes bleerer pa overfladen.

Anvend ikke blaeseren, hvis nogle af disse sympto-

mer opstar

Handtag

Sekskantmatrik

Symbol Beskrivelse
PSI Pund pr. kvadrattomme tryk
CFM Kubikfod pr. minut flow

SCFM Kubikfod pr. minut flow Trin 2: Monter handtaget og M6X35 skrue,
ved standardforhold M6 skive, sekskantmatrik korrekt i tanken.

NPT Nationalt rgrgevind, konisk
NPS Nationalt rgrgevind, lige

Montering

Aok |
e \\.I M6x35 skrue

M6 skive sekskantmatrik

Stgtteben

“Stgtteben

4X35 saksestift

Trin 3: Monter 6" hjul og aksel, M12 skiver,
stgtteben og 4x35 saksestift.

Trin 1: Monter de to stgttestolper og M6x35 skrue,
M6 skiver, sekskantmgtrik i tanken.



Sandrgr

_Luftslange

Trin 4: Monter sandrgret pa tanken, spaend med
ringen.

Flowkontrol

Luftindtagstilslutning

Trin 6: Monter manometeret pa tanken.
Monter derefter luftslangerne.

Trin 5: Monter flowkontrollen og luftindtagstilslutningen
korrekt til tanken og speaend til.



Tegningshbeskrivelse:

© No a2

Tank
Trykregulator
Stetteben
Sekskantmagtrik
M6 skive
M6x35 skrue
Handtag
Flowkontrol
Luftindtag

. Sandregr

. Stgtteben

. 4X35 saksestift
. 6" hjul

. M12 skive

. Aksel




EF-OVERENSSTEMMELSESERKLARING

2006/42/EF (MD), 2014/35/EU (LVD)
ORIGINAL ERKLARING

Vi, producenten,

Virksomhed: Verktygsboden Erfilux AB
Adresse: Kallbacksrydsgatan 1, SE-507 42 Boras, Sverige
Telefon: +46-33-2026 53

erklaerer, at konstruktion og fremstilling af dette produkt, der markedsfgres under varemaerket
PELA,

Maskine: Sand- og sodablaser, 26 |
Typebetegnelse: XH-DSBO7G
Varenummer: 497943

overholder alle relevante bestemmelser i henhold til maskindirektivet 2006/42/EF og
2014/35/EU (LVD)

Med henblik pd at overholde det ovennaevnte direktiv er fglgende harmoniserede standarder blevet
anvendt:

Standard:

DS/EN 12100:2010 DS/EN 60204-1:2018 DS/EN 1248:2001+A1:2009
Bemyndiget organ: ICR Polska Co. Ltd.

Certifikatnummer: ICR Polska/VC/FIT211101

Dette produkt er blevet CE-maerket i: 2022

Person, der har autorisation til at samle den tekniske dokumentation, og som er etableret inden for
Det Europaiske Fzellesskab:

Navn: Lars Edwardsson

Adresse: Kallbacksrydsgatan 1, SE-507 42 Boras, Sverige

Denne erkleering geelder udelukkende for produktet i den udfgrelse, som det forefindes i pa
markedet, og gaelder ikke komponenter, som tilfgres nu og/eller pa et senere tidspunkt af
slutkunden.

By og land: Boras, Sverige Dato: 12/05/2022
e\\-_\_ :‘,"""-Q\——' . #8 : J

Navn: Ted Berglund

Stilling: Indkgber

VERKTYGSBODEN




Yhteystiedot

Verktygsboden Erfilux AB
Kallbacksrydsgatan 1

SE-507 42 Boras

Puhelin: 033-202650

Sahkoposti: info@verktygsboden.se

Ympéristonsuojelu / kaytosta
poistaminen

Kierrata kaytosta poistetut materiaalit.
Al3 havita niita talousjatteen mukana.
Kaikki koneet, lisavarusteet ja

pakkaukset on lajiteltava ja vietdva
kierratyskeskukseen, jossa ne

havitetaan ymparistoa saastavalla tavalla.

Tekniset tiedot
Sailion tilavuus 2x261
Letkun pituus 2,5m
Kayttopaine 4-8 bar
llImantarve noin 170-200 |/min
Turvallisuusohjeet:

Lue kayttoohjeen turvallisuusohjeet huolella ennen
puhalluslaitteen kayttoa. VAROITUS! Puhallinta kay-
tettaessa on aina noudatettava turvallisuusetaisyytta
korkean ilmanpaineen aiheuttamien henkilovahinko-
jen ja muiden vahinkojen riskin vahentamiseksi.

1. Paineilmassa ei saa olla epapuhtauksia, kuten 6ljy4,
kosteutta jne. Ala kdyta puhallinta kosteissa, marissa
tai huonosti valaistuissa tydymparistdissa. Al4 altista
puhallinta sateelle. Pida ty6taso hyvin valaistuna ja puh-
taana. Epasiisti tydskentelyalue lisda onnettomuusriskia.

2. Kayta suojalaseja ja kuulosuojaimia. Kayta aina hyvéksyt-
tyja suojavarusteita puhallinta kayttaessasi. HUOMIO!
Tavalliset silmélasit eivat ole suojalaseja. Kayta kuulosuo-
jaimia, koska puhaltimen melutaso voi olla korkea kayton
aikana. Kayta vain suositeltuja puhallusmateriaaleja.

3. Pida lapset et4éll4 laitteesta ja varusteista. Lapset eivat
saa oleskella tydskentelyalueen ldheisyydessa. Alé ko-
skaan anna lasten kasitella puhallinta tai sen varusteita.

4. Kun puhallinta ei kaytet, sailyta sita kuivassa paikassa
ruostumisen estamiseksi. Sdilyta laitetta myos lukitussa
tilassa lasten ulottumattomissa.

5. Ala kéyti laitetta, jos olet vasynyt tai huumeiden, alkoholin
tai ladkkeiden vaikutuksen alaisena.

6. Irrota aina paineilmaliitanta sailiosta, kun taytét puhallu-
sainetta tai kun varastoit laitteen tai sdadat tai vaihdat sen
varusteita.

7. Ald koskaan anna rutiininomaisen puhaltimen kayttétavan
johtaa huolimattomuuteen.

8. Tarkista, etta kaikki osat ovat paikoillaan ja hyvassa
toimintakunnossa ja oikein asennettuja.

9. VYll4pidé oikea ilmanpaine tyon aikana. Jos paine nousee
enimmaispaineen ylapuolelle, lopeta kaikki tyot valitto-
masti ja kytke ilmanpaine irti puhallussailiosta.

Tyoskentelypaikka, esi- ja jalkityot
Soodapuhalluksen yhteydessa muodostuu huomat-
tavan maaran hienoa bikarbonaattipolya. Jos ty-
oskentelet ulkona, huomioi tuulen suunta, avoimet
ikkunat, kasvillisuus, ajoneuvot, lemmikit, ihmiset
ja omaisuus. Voi olla hyodyllista asentaa kevyt ve-
sisuihku puutarhaletkun ja nurmikonkastelulaitteen
avulla pois pain puhalluspaikalta polyn muodostu-
misen estamiseksi.

1. Ajoneuvon tai muun puhallettavan kohteen alla
ja ymparilla oleva tydskentelyalue on hyva pe-
ittda suojapeitteelld tai muulla paksuhkolla mu-
ovimateriaalilla puhdistuksen helpottamiseksi.
Myds ajoneuvon ikkunat ja muut pélyhiukkai-
silta suojattavat alueet voi olla tarpeen peittaa.
Bikarbonaatti itsessaan on kaytannossa ympa-
ristélle vaaraton suurempinakin pitoisuuksina,
mutta se voi aiheuttaa kasvillisuuden varjay-
tymista. Varovaisuutta on noudatettava, jotta
valtetaan liiallinen kasvillisuuden altistuminen.

2. Kun tyo on valmis, kaytetty puhallusaine voida-
an kerata ja havittaa. Jaljelle jaanyt materiaali
lakaistaan ja havitetaan, jaljella oleva sooda on
vesiliukoista ja se voidaan pesta pois.

Tarkeaa: Vaikka bikarbonaatti puhallusaineena on
turvallista useimmissa tilanteissa sita on kaytet-
tava ja se on havitettava varovasti, koska jotkin
maalit tai pinnoitteet voivat sisédltaa vaarallisten
aineiden, kuten lyijyn, sinkkikromaatin tms. jaamia.

Kaytto ja huolto

o Kayta puristimia tai muuta menetelmaa varmis-
taaksesi, etta tyokappale on vakaa. Tydkappa-
leen piteleminen kasin tai kehoa vasten tukien
ei ole riittavan vakaata ja voi johtaa hallinnan
menettamiseen.

o Kayta kayttotarkoitukseen soveltuvaa, oikeaa
tyokalua. Oikea tyokalu mahdollistaa parem-
man ja turvallisemman tydskentelyn.

« Ald kayta tyokalua, jos virtakytkin ei toimi
oikein. Kaikki tyokalut, joiden toimintaa ei voi
ohjata, ovat vaarallisia ja ne on korjattava.

o Irrota tyOkalu ilmalahteesta ennen saatojen
tekemista, lisdvarusteiden vaihtamista tai tyo-
kalun varastointia. Tallaiset ennaltaehkaisevat
turvatoimet vahentavat tyokalun tahattoman
kaynnistymisen riskia. Katkaise ilmansyotto,
vapauta jaljella oleva ilmanpaine ja kdanna
venttiili sulkuasentoon ennen kuin poistut tyo-
alueelta.

o Sailyta puhallinta turvallisessa paikassa lasten

ja ulkopuolisten henkil6iden ulottumattomissa.
Kone on vaarallinen vaarien kayttajien kasissa.



o Ole huolellinen ja huolla konetta hyvin. Tama
vahentaa vahinkojen riskia ja pidentaa koneen
kayttoikaa. Tarkista, ettei puhaltimessa ole
vaurioituneita osia ja etta kaikki toiminnot
toimivat oikein. Jos havaitset vian, ota yhteytta
Verktygsbodeniin.

« Kayta vain alkuperaisia varaosia, silla muuten
henkildvahinkojen riski kasvaa.

limansyitto

Esta rajahdykset ja vakavat loukkaantumiset nou-
dattamalla seuraavia ohjeita: Kayta vain:

e puhdasta

o kuivaa

o kontrolloitua
o tiivistettya

ilmaa soodapuhallinta kaytettaessa. Ala kayta
lahteena happea, hiilidioksidia, syttyvia kaasuja tai
muita pullokaasuija.

1. Asenna suodattimet, saatimet, joissa on pai-
nemittari, sulkuventtiili ja pikaliitin, jotka mah-
dollistavat laitteen parhaan kayttétavan. Linja-
sulkuventtiili (palloventtiili) on tarkea turvalaite,
koska se ohjaa ilmansyo6ttoa, vaikka ilmaletku
rikkoutuisi. Sulkuventtiilin tulee olla pallovent-
tiili, koska se voidaan sulkea nopeasti. Huom!
Taman soodapuhaltimen kanssa ei saa kayttaa
dljyjarjestelmaa. Oljy sekoittuu kayttdomateriaa-
liin, mika johtaa ei-toivottuihin tuloksiin.

2. Kytke ilmaletku kompressorin ilmalahtoon.

Kytke ilmaletku soodapuhaltimen ilmaventtiiliin.

Muut komponentit, kuten pikaliitin, tehostavat
kayttda, mutta ne eivat ole valttamattomia.
Huom! Alimitoitetut ilmansyottokomponentit
voivat estaa ilmavirtauksen ja siten heikentaa
puhallusta. llmaletkun on oltava riittavan pitka,
jotta se paasee tyoskentelyalueelle ja jotta se
mahdollistaa vapaan liikkumisen tyon aikana.

3. Sulje soodapuhaltimen venttiilit.

4. Sulje kompressorin ja puhaltimen vélinen linja-
sulkuventtiili.

5. Kytke kompressori paalle valmistajan ohjeiden
mukaisesti ja anna sen kerata painetta, kunnes
se laskee.

6. Saada kompressorin saadin siten, etta se ei
ylitéd puhaltimen enimmaiskapasiteettia. Saada
painetta vahitellen samalla, kun tarkistat ilman-
painemittarin asettaaksesi oikean painealueen.

7. Tarkista ilmaliitannat vuotojen varalta.

8. Jos soodapuhallinta ei kayteta vahaan aikaan,
sammuta se ja tyhjenna sailiét. Sulje venttiilit
tahattoman kayton estamiseksi.

Tarinda koskevat varotoimenpiteet

Tama tyokalu tarisee kayton aikana. Toistuva tai
pitkaaikainen altistuminen tarinalle voi aiheuttaa
tilapaisia tai pysyvia fyysisia vammoja erityisesti
kasiin, kdsivarsiin ja hartioihin. Vahenna tarinaan
liittyvia vammoja seuraavilla toimenpiteilla:

1. Tarisevaa tyOkalua saannollisesti tai pitkakes-
toisesti kayttavien tyontekijoiden on kaytava
aluksi laakarintarkastuksessa ja taman jalkeen
saannollisissa tarkastuksissa, jotta voidaan
varmistaa, etta laitteen kaytto ei aiheuta tai
pahenna ladketieteellisia ongelmia. Raskaana
olevat naiset tai henkildt, joilla on heikentynyt
verenkierto kasissa, kdasivammoja, hermosto-
oireita, diabetes tai Raynaud'n tauti, eivat
saa kayttaa tata konetta. Jos sinulla ilmenee
tarinaan liittyvia oireita (esim. pistelya, tunnot-
tomuutta ja valkoiset tai sinertavat sormet),
ota yhteytta laakariin mahdollisimman pian.

2. Al tupakoi kayton aikana. Nikotiini heikentda
kasien ja sormien verenkiertoa, mika lisaa tari-
nasta johtuvien vammojen vaaraa.

3. Kayta sopivia kasineita tarinan vaikutusten
vahentamiseksi.

4. Pida taukoja toista.

5. Tartu tydkaluun mahdollisimman kevyesti
(sailyttden samalla sen turvallinen hallinta).
Anna tyokalun tehda tyo.

6. Vahenna tarinaa kayttamalla puhallinta oikein
ja epanormaalin tarinan ilmetessa lopeta kaytto
valittomasti.

Vinkkeja ja neuvoja

o Soodapubhalletuille alueille jaa ohut suojakalvo,
joka paikoilleen jatettyna estaa ruosteen muodos-
tumisen paljaille teraspinnoille jopa 6 viikon ajan
tai viela pidempaankin, jos kohdetta sailytetaan
kuivassa ja suojatussa ymparistossa. Tama kalvo
on poistettava ennen maalausta kuivaamalla
se kostealla mikrokuituliinalla. On suositeltavaa
ensin kastella kangas ja vaantaa ylimaarainen
vesi pois, pyyhkia pois soodajaamat (huuhtele
kangasta usein) ja pyyhkia sitten valittomasti
kuivalla nukkaamattomalla pyyhkeella.

o Kaikki kohteen pinnalle tai halkeamiin jaanyt
sooda voidaan poistaa pienella hienokarkisella
puhalluspistoolilla.

Esta metallipintojen ruostuminen tai hapettumi-
nen kasittelemalla pinnat vedella pesun jalkeen
ja ennen maalausta ruostesuoja-aineella.

Puhallusaineen valinta

Valitsemasi puhallusaineen tyyppi vaikuttaa suu-
resti yksittdisen pinta-alueen puhdistamiseen
kuluvaan aikaan. Puhallusmateriaaleja ovat esi-
merkiksi lasikuulat, alumiinioksidi, terashiekka jne.
Parhaan tuloksen saavuttamiseksi kayta 165 ym:n
tai hienompaa puhallusainetta.



o Varmista, etta kayttamasi puhallusaine on tay-
sin kuivaa. Kostea puhallusaine voi aiheuttaa
puhaltimen tukkeutumisen.

o Puhallusaine on uudelleenkaytettavaa, mutta
muista talloin tarkistaa, ettei puhallusaine ole
kulunut. Kayton jalkeen jyvat muuttuvat peh-
meammiksi ja pyoreammiksi, mika vahentaa
puhalluksen tehoa.

o Uudelleenkaytettava puhallusaine voi aiheut-
taa myos tukkeutumista aikaisemman kayton M6X35-ruuvi
yhteydessa seokseen mahdollisesti tulleiden
roskien (paperinpalojen tai ruostehiutaleiden)

takia.

Varoitus: Kiinnita erityistda huomiota puhalluslet-
kuun, puhallusaineventtiiliin ja suuttimeen, koska
ne kuluvat paljon nopeammin kuin muut osat. Pu-
hallusletku on vaihdettava valittomasti, jos se alkaa
vuotaa tai jos sen pinnalle kehittyy kuplia. Alé kayta
puhalluslaitetta, jos havaitset jonkin néista oireista.

Kahva

Kuusikulmainen
mutteri

Symboli | Kuvaus

PSI Pounds per square inch of pressure it

CFM Cubic Feet per Minute flow 2. vaihe: Asenna kahva ja M6X35-ruuvi, M6 aluslevy
SCFM Cubic Feet per Minute flow ja kuusikulmainen mutteri oikein sailioon.

at standard conditions

NPT National pipe thread, tapered

NPS National pipe thread, straight
Kokoaminen

ok |
; \\, | M6x35-ruuvi

Mé6-aluslevy, kuusiomutteri

Tukijalat

/

“Tukivarsi

4X35-sokkatappi

3. vaihe: Asenna 6" pyora ja akseli, M12-aluslevyt,
tukivarret ja 4x35 sokkatappi.

1. vaihe: Asenna kaksi tukivartta ja M6x35-ruuvi,
Mé6-aluslevyt ja kuusikulmainen mutteri sailioon.



Hiekkaputki

; aletku

e

Paineensaadin

_llmaletku

4. vaihe: Asenna hiekkaputki sailioon,
kiristd renkaan avulla.

Virtauksen saadin

Ilman tuloliitanta

6. vaihe: Asenna painemittari sailioon.
Asenna sitten ilmaletkut.

5. vaihe: Asenna virtauksen saadin ja ilman tuloliitanta
sailioon oikein ja kirista.



Piirustuksen kuvaus:
Sailio
Paineensaadin
Tukijalat
Kuusikulmainen mutteri
Mé6-aluslevy
M6x35-ruuvi

Kahva

Virtauksen saadin
9. llmanotto

10. Hiekkaputki

11. Tukijalat

12. 4X35-sokkatappi
13. 6" pyorat

14. M12-aluslevy

15. Akseli

© No a2




EU-VAATIMUSTENMUKAISUUSVAKUUTUS

2006/42/EC (MD), 2014/35/EU (LVD)

ALKUPERAINEN VAKUUTUS

Valmistaja:

Yritys: Verktygsboden Erfilux AB

Osoite: Kallbacksrydsgatan 1, SE-507 42 Boras, Sweden
Puhelin: +46-33-2026 53

vakuuttaa, ettd tdman PELA-tuotemerkilla markkinoidun tuotteen rakenne ja valmistus:
Kone: Hiekka- ja soodapuhallin, 26 |
Tyyppimerkinta: XH-DSBO7G

Tuotteen tunnistenumero: 497943

on direktiivien 2006/42/EC (konedirektiivi) ja 2014/35/EU (pienjannitedirektiivi) kaikkien
olennaisten vaatimusten mukainen.

Ylla mainitun direktiivin vaatimuksiin vastaamiseen kaytetyt yndenmukaistetut standardit:

Standardi:

EN 12100:2010 EN 60204-1:2018 EN 1248:2001+A1:2009
[Imoitettu laitos: ICR Polska Co. Ltd

Sertifikaatin numero: ICR Polska/VC/FIT211101

Tuotteen CE-merkintdvuosi: 2022

Teknisen todistuksen antanut valtuutettu henkild, joka on tunnustettu Euroopan yhteison alueella:
Nimi: Lars Edwardsson
Osoite: Kallbacksrydsgatan 1, SE-507 42 Boras, Sweden

Tama vakuutus koskee ainoastaan tuotetta sen myytavassa muodossa. Se ei kata komponentteja,
joita loppuasiakas liséa myohemmin.

Paikka ja aika: Boras, Ruotsi Paivamaara: 12/05/2022
:\\— r"é"*——- . 5 : )

Nimi: Ted Berglund

Asema yrityksessa: Ostaja

VERKTYGSBODEN




Verktygsboden Erfilux AB Kallbacksrydsgatan 1, SE-507 42 Boras

© Verktygsboden - Bords - Sweden - 0120504-03



